17 2 5




TEL

TEL

TEL

TEL

TEL

I
i




oy el

\

ne

HERIEHI M DAz AR

ge e}

W

HERIEHIM TEEX

S=1:1,000

E BIITHE

oLel

\

08°€¢
BRAS 15T P94

oLel

A

gLel

GlL'ee

- ZEAERR

JIER

SE
W

=S

12.60

SJ\ e
w
T e
6¢-Gl
.

i

GLeL

I\
. 13.55

16-27
o 13.338

rRaJTT
JIE ==

R

13.31

v

DL=A. P+10. 00

_V/v—/L

DA EB B P

NO. 196+8

DL=A. P+10. 00

08
20 g
AP+11.10 3
kb =
AP+10. 30 AP+10.30 &
— ~
5@3000=15000 5800
380 20800 T 2 IEESERR
NO. 197+10
B
(=1
3
s 8
AP+11.10 S | &
Rk Tt
AP+10. 30 8
— AP+9. 90 S

BXZ=HB

7@5000=35000

9500

380 44500

+ BB AHR t=20mm

O k— T EERIE T &R

LAY L b 60mm L=500mm

BaE

200

%

AR - x

BAERT

t=100mm

3.330~2. 150




10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

10

11

12

17

22

23

27

28

10

11

28| 29 30| 31 1| 2

13| 14 15| 16

270

m2

190

2260

m3

200

500

m2

20KVA | 1

3

2

0.8m3 1
10t |10




3-2.

3-1.

=90cm

3m H



3-3.

D
0.8m ( )
t=20mm
/ <p60mm_L=500mm
/ K
ﬂ ﬂ 25 50 50 50 50 75 100 100 100 100 50
23,40

I sl H 950 H 950 H 950 H 950 H 950 H 900H gooH 900H gooH 900 H

a0 I T T T T W y
/H N A
2)
3)
2
R FP AP+23.40v‘
u ] =N 10cm

AP+11.10,
AP+9.90

i 10m




